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Aufgabe 3: Ein Wegintegral (30 Punkte)

Berechnen Sie
∫
γ
x dx + y2 dy; dies ist eine andere No-

tation für
∫
γ
(x, y2) (dx, dy)t, also das Wegintegral des

Vektorfeldes f(x, y) = (x, y2)t. Hierbei sei γ ein Vier-
telkreis um (0, 0) entgegen dem Uhrzeigersinn von (1, 0)
nach (0, 1), gefolgt von der Strecke von (0, 1) nach (3, 1),
wie in der Abbildung gezeigt.

2A

(12) 4. Compute

∫ ∫

D

e−x2−y2

dA where D is the region in the plane which is inside the unit

circle (the circle with center at (0, 0) and radius 1) and also inside the upper half plane
(where y ≥ 0).

(12) 5. Express in cylindrical coordinates and evaluate:

∫ 1

0

∫ √
1−x2

0

∫ √
x2+y2

0

z dz dy dx .

(12) 6. Use spherical coordinates to calculate the triple integral of f(x, y, z) = x2 +y2 + z2 over
the region 1 ≤ x2 + y2 + z2 ≤ 4 .

(12) 7. This problem is about the transformation

{
x =e3u cos(2v)

y =e3u sin(2v)
.

a) Compute the Jacobian of this transformation. The result should be 6e6u but you must
show the details of the computation.

b) Suppose R is the region in the uv-plane determined by u = 0, u =
1

3
, v = 0, and v =

π

2
as shown on the coordinate axes below and to the left. Sketch the image region using this
transformation in the xy-plane below and to the right.
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(16) 8. a) Compute

∫

C

x dx+y2 dy if C is a quarter circle centered

at (0, 0) from (1, 0) to (0, 1) followed by a line segment from
(0, 1) to (3, 1).

C is shown in a diagram to the right. You may need more
than one integral!
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b) Suppose F is the vector field (x + 5y2)i + (Axy)j, where A is a constant. There is one
value of A for which this vector field is a gradient vector field. Find that value of A. Then
find all potentials of F, using that value of A.

Aufgabe 4: Ein Wegintegral zum Aharonov-Bohm-Effekt (70 Punkte)
Sei das Vektorfeld A in R2 \ {0} gegeben durch

A(x, y) =
b

x2 + y2

(
−y
x

)

mit einer beliebigen Konstanten b ∈ R. Der geschlossene Weg γ umlaufe den Ursprung entgegen
dem Uhrzeigersinn, gegeben in Polarkoordinaten (r, ϕ) durch die Gleichung r = f(ϕ), 0 ≤ ϕ ≤ 2π,
mit einer C1-Funktion f : [0, 2π]→ (0,∞), die f(2π) = f(0) erfüllt. Zeigen Sie, dass

∫

γ

A · dx = 2πb ,

unabhängig von der Wahl von f .

Abgabe: Am Freitag, 4.5.2018, in der Vorlesung.


